2011 Geography

Question 4

Refer to the table below to answer Questions 4-5.

City (Country)

Approximate metropolitan

Country GDP, 2010

population, 2008 (US Dollars)
Bangkok (Thailand) 7221000 586.9 billion
Delhi (India) 18680000 4.06 trillion
Ha Néi (Vietnam) 3678000 276.6 billion
Lagos (Nigeria) 13488000 377.9 billion
Mexico City (Mexico) 20450000 1.56 trillion
Tokyo (Japan) 32450000 4.3 trillion

Which of the following are megacities in the developing world?

A X Lagos and Ha Noi

B X Ha No&i and Bangkok
C « Mexico City and Delhi
D X Tokyo and Mexico City
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HSC Statistics on this Question:

Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

% Students with Answer
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Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

A 8% 15% 14% 4% 3%
B 14% 15% 5% 1% 2%
C 32% 42% 72% 91% 93%
D 46% 28% 10% 4% 2%
N 0% 0% 0% 0% 0%

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is
used to identify: No valid response.
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